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He should have said, ‘I did it intentionally’ - N 7R Y W 19T

Overview

The X713 cites a 7awn which states; if a 2"7v2 told his M5, ‘bring me money from
this window’, and the m°%w brought it to him and it turned out that it was wpn
money, the rule is that the 2"17v2 is Y¥n, even though the 2"7v2 later said that in his
mind he did not want him to bring the money from this window, but rather from
elsewhere (which was not w7pn). The X723 wants to prove from this 71w that 0°727
0°727 01X 272w, The X3 rejects this proof; perhaps the reason he is 1292 21 is
(not because of 272w 0727, but rather) because he is lying in order to save himself
from bringing a v 129p. The X3 replies that it cannot be that he is lying to
save himself the 12772, for he could have said, ‘I did it on purpose’ (for there is no
n9°vn 127p for 7ma, only for anw). mMoon explains why he is more believed to say
N™7 7717, than to say this was not my intention.
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For granted that we do not believe him to say, ‘my intention was this’ (to take

from another place which is not w7pi1), because we assume that he is lying to acquit himself from

a 1272 (so we should also not believe him to say °n»n 7°, for the same reason; he wants to avoid
bringing a 127p) -
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Nevertheless '>n»;1 791" is a more acceptable claim (than 12 °2%2 77°7 X9), and it

does not appear as much a deception as 151392 7 x5 .

mooIn offers an alternate explanation:
= 9597 19 ©22NM NN NN I INTI WD (1)NWN 1929 29
And »''977 explained; we certainly believe him to say >n>7 79t more than saying
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"t is not that readily believable that a person says one thing (‘bring it to me from the window’), and then later says,
‘T did not mean what I said; I meant something else’. However when a person says, ‘I did it on purpose’, there is no
reason not to believe him; his actions do not indicate whether it was A2 or 7°12.

? Indeed we will not believe him to claim *n™; 7 just as we do not believe him to claim 72 7°7 *2%2 (for the same
reason because he wants to exempt himself from a 127p); however the &7n3 is arguing, how can you say that the
reason he is not believed to say 72 1 *222 is because he wants to exempt himself from a 1277 (and not as we wanted
to say because 0°127 01X 222w 0°127), but it is obvious that the reason he is saying 72 7°7 °291 is not to exempt
himself from a j27p, for if that were the case he should have said the more acceptable claim that >n>*i7 7172. Therefore
since he is not doing it to exempt himself from a 127p, the reason he is not exempt from a 1277 is because 272w 0137
027 ark. See “Thinking it over’ # 1 & 2.
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Like this which the X713 states in the first p2p of »''2 noon -
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Regarding the case where two witnesses said to him, ‘you ate 2%n’ (which

requires him to being a nXvr 127p if he ate it 2w2), and he said, I did not eat the
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That the 2251 exempt him from bringing a nXvn, for this reason, for if he
wanted he could have said, ‘I ate it 791%3’, which would have exempted him from a 27p.

Summary
We can assume that >n>;7 7°17 is (also) not believed but nevertheless it makes for a

valid °n, since it is a more acceptable claim, or we can maintain that *n»73 7717 is
believed.

Thinking it over
1. The first explanation of n1oN assumes that >n>71 7 will also not be believed;”

how will it explain the X723 in "2 cited by mpoIn, that >n>7 i is believed?’

2. The X3 is out to prove that 0727 "7 X2 272w 0°127, for if 0727 17, he should be
believed to say T2 7°7 °2%2 (and be w9 from a 127p), for if he was lying >7109K?
127771, he would have said °n>7 7. However (according to the first "o in MdoIN),
even if we maintain 2°727 "7, how can he be believed (and be 75 from a j27p)
based on the W»n of °*n»i 717, for even if he would claim *n>7 777, he also would
not have been believed (and would be 211 a 3272)! How can the claim have more
power than the 1n?1°

? See '0n there MY 77 OX 7 11"7, that the meaning of 9% 77 oX is (not that he has a 1n, for it is a 2PHa W»
0*7v, but rather) that we can interpret his words of °n?aX X2 to mean 711 K2R 2w °n?3X X, this proves that he is
believed to claim *n*71 71 and be 7wa. [Otherwise (without '01n77 "9 in 1n"2) what is the proof from »"2 that *n»i 7%
is believed, perhaps there too we can learn like the "wR27 2 in our 'own that it is a 90 NY2Pn 71vY than >NYOR R?
(which contradicts the 0>7v).]

* See footnote # 2.

> See mwn nom1 and TIMONT WIDN TN # 161-2.

® See mwn nom1 and 7NN WIDN TN # 157.
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